Criss-Cross Construction

General Notes

Start with the Legs as the inside dimensions of the Top and Bottom Collar depend on their
precise finished dimensions. If you're starting from 2x6", it's worth the time to dig through
the pile of lumber to find boards with as little warp, twist, cup, and other defects as possible.
A Jointer and Planer go a long way toward trueing the boards - make sure all 4 legs are
consistent with each other. After you finish the legs, carefully measure the final dimensions
as you may need to adjust the inside dimension of the Collars up or down from 7".

Final Assembly - hinges. First install the hinges on the Mounting Bar, aligning the hinge so
the "barrells" extend entirely past the edge of the Bar. Then fully assemble the Cross and
test fit the Cross and Bar to each other. Screw in the cooresponding hinge-halves so the
Cross and Bar are approximately centered.

There are no instructions for constructing the metal plates. We "outsourced" that work -
see the discussion on www.FoxyFurniture.com.

Num Description Notes

Legs

1 Joint, Plane & cut to rough size (1-1/2x5-1/2x 43-3/4)

2 Mark holes & angle cuts

3 Make angle cuts

4 Drill 7/16" and 2" holes

5 Turn Leg on edge, mark center of concentric holes

6 Drill 3/4" hole 5/16" deep

7 Drill 3/16" hole 4-1/2" deep Buy long drill bit

8 Drill 5/16" hole deep enough to enter 2" hole area

9 Round-over edges and inside of holes (1/8") 1/8" Roundover
bit

10 Putty & sand

11/|Stain

12 Polyurethane - 1st coat

13 Polyurethane - 2nd coat

14 Screw 1/4-20 x 4-1/2" bolt into each Leg edge

Install hinge half to mate with cooresponding half on Mounting | See note above
15 Bar

Legs

Top Collar

1 Cut 3/4" plywood Top 12" square

2 Cut 3/4" plywood Block 2" square

3 Dirill 3/8" hole in center of Block

4/|Drill (4) 1/8" holes near corners of Block

5 Mitre cut Edge Trim to fit each side of Top

6 Glue & tack Edge Trim to Top

7 Mitre cut (4) 3/4x5-1/2 Collar sides to 7" inside width See note above

8 Glue, tack, and strap-clamp Collar pieces, test fit w/Legs

9 Center Collar on Top shelf, glue & clamp. Allow to dry.

10 Mitre cut (4) 2-1/4" Crown Molding to fit each side of Collar

11 Glue & tack Crown Molding to Collar

12 Route Collar edge with 1/4" Cove bit




13|Set 1/4-20 T-Nut in Block

14 Apply lock-tite to threads of 1/4-20 steel rod, screw into T-Nut

15 Putty & sand

16 Stain

17 Polyurethane - 1st coat

18 Polyurethane - 2nd coat

19 Glue and screw (#6 1-1/4) Block to center of Top

Top Collar
Bottom Collar

1 Cut 3/4" plywood Bottom 13" square

2 Drill 3/4" hole in center

3 Cut or route 3/8x3/4" rabbet in 1x2" x 5' stock for Foot Fit depth of rabbet
to actual
thickness of
plywood

4 'Mitre cut Foot to fit each side of Bottom

5 Glue & tack Foot to Bottom

6 Mitre cut (4) 3/4x7-1/2 Collar sides to 7" inside width See note above

7 Glue, tack, and strap-clamp Collar pieces, test fit w/Legs

8 Center Collar on Bottom, glue & clamp. Allow to dry.

9 Mitre cut (4) 2x4" Molding to fit each side of Collar

10 Glue & tack Molding to Collar

11 Route Collar edge with 1/4" Cove bit

12 Putty & sand

13| Stain

14 Polyurethane - 1st coat

15 Polyurethane - 2nd coat

16 Screw 1/2" Poly Riser into 3/4" hole in Bottom

Bottom Collar

Plate Shelf & Mounting Bar

1 Cut 2x2" to 35-3/4" for Mounting Bar

2 Rip and cut 1/2" board to 3-3/4x39-3/4" for Shelf

3 Route 3/8" slot 1/4" deep, 33-3/8" long on top side of Shelf

4/Route (2) 3/8" slots 1/4" deep, 3-1/2" long on bottom of Shelf

5 Route sides and front edges of Shelf using 5/32" Roman Ogee | Long slotis to
front of Shelf

6 Rip and cut 1/2" board to 1-7/8x36" for Bottom

7 Mitre cut Crown Molding Face to fit Bottom

8 Mitre cut (2) Crown Molding Ends to fit Bottom

9 Glue and tack Crown Molding Face, Ends, and Bottom. Allow to
dry.

10 Glue, tack, and clamp Shelf to sub-assembly from above.

11 Putty & sand

12 Stain

13 Polyurethane - 1st coat

14 Polyurethane - 2nd coat

15 Remove pins from hinges. Screw hinge halves to ends of See note above
Mounting Bar.

Plate Shelf & Mounting Bar




	Sheet1

